UNIT-TV 0

Teshtng o} dypothests - 1T
%:f— ‘lb x s the numba thals an evenls occuas
O'ﬁcma‘m’ Rials Ha propartion of the Lime Hhol- the evend-
OtCJtLLaMﬁ, occuns ie , X % the sample paopoytion .

Iy n hanls _e.amw the assumplions omlubrrp}-
Ha binomtad diskibulion e know thed” ke meen 4
2 p ob e nofo# Sicets aad a‘wn L,qa np & npl-p INVNG
p e the probetilily ob uccess-

e E(x)- NP, VOO = npl-p) ( ~p Ts Ha PmI:aL:LL:;
&‘) beq[w)

o= Vrpa-py

,b e OL‘V?C‘RQ _‘L.z,g,{ ]o\? E(x) ownd o '017 n
vdea,,_} E(—?T>= y—){-g(‘x): %'WP: p
(&) =y ol

Sarn[)\l P"D-R:\{ov’) % an bicaed estmalen "’b fla
Sioomiel  ponomelin p e bl P probebilily of
Suceess and @ ot papioLill; ) ia‘l[,u./d e Q=1-P
P = sampla paropation

CEE-E(FH) P

VP> v (2D Lvi) - nr] _ PR

§¥QQM eAND Ob pP= ‘/——ZE :
in W Ha sempl T Jaken .t\my) a ’bf“&L P@?MLL‘“’) Ob o2e N

Ho elondond ©uer Gb P’*"P"dlm



To -»‘ng Haw cmba’&ma Intawvald b”\ P - b
How{mav oLPPAOﬂImaQiLT o Cﬂﬂaﬂ,u Cb me o

(1-«) 100).

Z 2 il boum e for p Poliams
Ve Vreg
of He obsewed valo x  sun X b«\ P
5 (i 50-) %
or % L(—qj‘) Lip L FrE, Y T

o conb{c&_mu Navald %)0-\ P (P@A 'PYOPULtw)
_;:5 we il @ X - p

P
BT conffdince bl et [a,\@( campl JP

‘P“%‘/zJ_EAF<P+%w/‘TT-<'F:?’ —IP)\

)

Monimum €ewot ', - E = .1.“/1 ﬁf,i
. 2
Sompl she g [%‘JTP@ ov iEfa P(1-P)
b =

T(Q_D_t;[,’ lb P ‘fs 1")0‘}: faﬂ/er)} we C,anno{‘ oLe e odbove bt’\nmL.LgL

: act o) PO1-P)
!ﬂﬂfvﬁi care e can make USQOb tha bc

Ts a¥ the most JA; (i-e P-.:J;)'

. ) ),
S,c\_mP\i wre v (m‘v\m p s net alwn) = 21? J: E/J




o A vandom samph ob 100 aﬂ)\u went dokon ed ol Oh wolade L\,/rr WAL
J touncl 10 be had . ghal cen we smd with asy (‘cnb-('olmu ARSI fo
Moom um  eaneh ai onptrkhém

sdn
NO'O‘E ed QPPL‘J ““'“"Liamph = 15 ="\
v = -gﬂ-'nlix $vre = oo
b= PYOPD’\'L[‘(M aﬁ bc‘.(n okF'Png n '“’\L.&a_mr)tﬂ_ = 3%— =,(‘(_)S = O LS
Mow - evrp - 2«/ '_f'n@ i 2, = jaL ok as ) rm‘b;o{u\*
> )
P:.. Ol’f . e
s = O .
. -p=0-=0
> 11 [oSxORT -
ieo %, 00
(» ‘tf) ﬂ)a_f/\a, md»-]-&c:\ 200 oAt '-‘)LJD‘&F eg_,OJA.S,

,1\ (=% &%mfh Db oo PE‘OPL!

v, Cow clif\u v
whal— Can “’OM clopul Yo o - VA W‘.H\ a9 / bﬂ

/U’/l”’ X = no-c% lDQCJrJLL ks eals whaal- = 200

) o= _ﬁampb sz e = Lo

o X . 3_99 P 0'4
PYoPo’k{wm ob phed el n %gm[;\x p= A 7 o5
2,4 = %55, Q=I)P=1-06= 04
D'l]—)(OlG
Mew . ervor = @-SS% D
[ Y * Ckl'd
W21 e o aaiiit ot gy, Al A pn, enet e 0768
pis fa*'vvar) os 002+ Find the chie ob Hew -C-oump\i-
59\'.\?' n = 2"/) -
F) e
2y = 16, P=0:2, Q= \-p 2= 0%, E=0:05
n= ("B‘L)L(@).z_)(o'%)> - 244 (a.PPru)
0. 0%
N Led
(L') A blased o won dhowsn 400 ‘yl’nof_s anol heod vesul

o dimes . Find Ha edandad oot Ols Ho olosenved PP G&tﬂh
S heads and diduce Aok Pmbabaft.\,g ob adl hq e
head fn o sin Haowo o\’ﬁu coi Loy almost kaajﬂl»r

1"’1'»0 0'5'550'6?-

—T

1






